Efficiency vs P,

~ 0.8
o o
Q E : : :
= 07__ """""" P vt
3 o . . :
c F N N N
Q 0.6t preneeneeses R
] F : H .
E E : : :
© 05f  ERRRREE ARCIELEERLE ARMIEERERERE
] SR R— S S
0.3 oeerrm o e e
F 2 ! E E
0.2 rrmremgerrerreeees e e
O R e SR
o q_‘*"'
E [ 4 : :
(O8] kbl AR R R LR R b AR
[ e : :
-1 2 3
0110 4, elf
[—=— DQM_original_stepZ_tibar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
= 05 T T T T
@ L
>‘0.45 Tyt Pyt P
2 : : : :
g OAp o T
o : : : :
£ 0,35 -+ eeeeeeee e B de Peeeen
o : : : :
O Rt SIS UL SIS S
0,255+ b gy e bbb
"+E* LA "
02 T
0.15 **W:"tﬁf '++;+*'+""'r;+'f#+*"f"r"*f-;f;ﬂ§
0 oy 4 ’id’ﬂ boaty it
*+*h‘* G AR
e § T +++++:*+t iy
0.05"----- ++ i + ..... +. ----;:F-r—{.; .......... [ ]
...I....I....I....I....I...-
o e
§ : '+++++*
¥+ ;
Ll %tgm’&mm +¢” "
i T T
++*‘++ ++++ i 44++|-H++ +.H+ ++++ +M-+

-3 -2 —1 0 1 2 3
TP n

Efficiency vs ¢

9-0.5:

Ratio

bttt e +++ +.|..-|-+..,_|_+_,_+ Ty +-+++"‘H-

33 0 123',
TP @




	Contents
	Page 1


